Fluency Fifteen [ 8.1.21 ]

Place Value
. What are the missing numbers? ? +? + ? = 354

. Make an even number between 800 and 900 using.... 4 7 8
. Increase 191 by 10.
Decrease 602 by 10.

I N

Order these numbers in ascending order.
112 212 121 221

6. Complete the sequence.

__, __ ,60,064,08,
7. What number is the arrow pointing to?
700 710 720 730 740

| | 3

8. What number is the arrow pointing to?
300 700

Addition and Subtraction

9.80+ 110 =

10. 170 + 30 =
11.542 -40 =

12. 679 + 321 =
13.543 + 119 =
14. 657 - 88 =

15. £3.56 - £2.70 =
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